

تغیر و خواص نوشتن شود

۱۸,۷۵

مساینا جاری

$$m = \frac{y_2 - y_1}{x_2 - x_1}$$

①

مساینا جاری

$$y - y_1 = m(x - x_1)$$

②

$$y - 2 = -\frac{1}{3}(x - 4)$$

$$\frac{-2 - 2}{4 - 4} = -\frac{1}{3} \cdot (-4)$$

$$y - 2 = 1/3 - 4/3$$

$$y = -1/3x + 4/3$$

الف

$$\frac{a}{a'} = \frac{b}{b'} = \frac{c}{c'} \rightarrow$$

$$\begin{vmatrix} a & b \\ a' & b' \end{vmatrix} = 0$$

ب

$$y = -3x - \frac{1}{3}$$

$$y - 2 = -3(x - 4)$$

$$y - 2 = -3x + 12 \rightarrow y = -3x + 14$$

$$3y = -x + 1 \rightarrow y = -\frac{x}{3} + \frac{1}{3}$$

ج

$$m_1 = -\frac{1}{3} \rightarrow m_2 = \frac{1}{3}$$

$$y - y_1 = m(x - x_1) \rightarrow y - 2 = \frac{1}{3}(x - 4) \rightarrow y - 2 = \frac{1}{3}x - \frac{4}{3}$$

$$y = \frac{1}{3}x - \frac{4}{3} + 2$$

$$\tan \alpha = m \rightarrow \tan \frac{\pi}{4} = \sqrt{3} \rightarrow y - 2 = \sqrt{3}(x - 4)$$

د

$$y - 2 = \sqrt{3}x - 4\sqrt{3} \rightarrow y = \sqrt{3}x - 4\sqrt{3} + 2$$

$$a) |AB| = \sqrt{(y_2 - y_1)^2 + (x_2 - x_1)^2} \rightarrow \sqrt{(1-2)^2 + (-1-1)^2} = \sqrt{5} = \Delta \quad (2)$$

$$b) \frac{|ax_0 + by_0 + c|}{\sqrt{a^2 + b^2}} \rightarrow \frac{|1 \cdot 3 + 4 \cdot (-1) - 3|}{\sqrt{1 + 16}} = \frac{1\Delta}{\Delta} = 1 \quad (3)$$

$$2x \begin{cases} 3x + 4y = 12 \rightarrow 3x + 4y = 12 \\ 3x + 4y = 1 \rightarrow 3x + 4y = 1 \end{cases} \quad a) \quad ax + by = \frac{c + c'}{2}$$

ا) (3)

$$b) \begin{cases} 3x + 4y = 12 \\ 3x + 4y = 1 \end{cases} \rightarrow 3x + 4y = 10$$

1,10

$$d = \frac{|c - c'|}{\sqrt{a^2 + b^2}} = \frac{|12 - 1|}{\sqrt{1 + 16}} = \frac{11}{\sqrt{17}}$$

$$\frac{|ax + by - d|}{\sqrt{a^2 + b^2}} = \frac{|a'x + b'y - d'|}{\sqrt{(a')^2 + (b')^2}} \rightarrow \frac{|3x - 2y - 1|}{\sqrt{1 + 4}} = \frac{|3x + 2y - 1|}{\sqrt{13}} \quad (4)$$

$$\rightarrow \begin{cases} 3x - 2y - 1 = 3x + 2y - 1 \rightarrow x - 4y = -1 \\ 3x - 2y - 1 = -3x - 2y + 1 \rightarrow 6x = 2 \rightarrow 3x = 1 \end{cases}$$

5

$$\tan \alpha = \left| \frac{m - m'}{1 + mm'} \right| \quad \begin{cases} y + 3x = 12 \rightarrow y = -3x + 12 \rightarrow m = -3 \\ y - 2x = 1 \rightarrow y = 2x + 1 \rightarrow m = 2 \end{cases} \quad (5)$$

$$\tan \alpha = \left| \frac{2 + 3}{1 - 6} \right| = \left| \frac{5}{-5} \right| = 1 \quad \alpha = 45^\circ$$

1,0

$$a) |AB| = \sqrt{(y_2 - y_1)^2 + (x_2 - x_1)^2} = \sqrt{(1 - (-1))^2 + (-2 - 2)^2} = \sqrt{1 + 16} = \sqrt{17} = 10$$

$$b) M\left(\frac{x_1 + x_2}{2}, \frac{y_1 + y_2}{2}\right) = M\left(\frac{-2 + 2}{2}, \frac{1 - 1}{2}\right) = M(0, 0) \quad (6)$$

5

$$a) \frac{x_1 + x_2 + x_3}{3} = \frac{-10 - 12 + 13}{3} = -\frac{9}{3} = -3$$

7

$$y_G = \frac{y_1 + y_2 + y_3}{3} = \frac{-13 + 13 + 1}{3} = -\frac{9}{3} = -3$$

G(-3, -3)

1,0

$$b) \frac{1}{P} \begin{vmatrix} x_1 & y_1 & 1 \\ x_2 & y_2 & 1 \\ x_3 & y_3 & 1 \end{vmatrix} \rightarrow \frac{1}{P} \begin{vmatrix} -10 & 12 & 1 \\ -2 & 13 & 1 \\ -10 & -13 & 1 \end{vmatrix} = 9 - 1 + 12 + 130 + 14 + 139 = 1.0$$

$$S = \frac{1}{P} \begin{vmatrix} -2 & 12 & 1 \\ -10 & -13 & 1 \end{vmatrix} = 1.1$$

$$①) y_s \frac{3x+1}{x-2}$$

$$أ) y \rightarrow -y \rightarrow -y_s \frac{3x+1}{x-2}$$

$$ب) x \rightarrow -x \rightarrow y_s \frac{-3x+1}{-x-2}$$

$$ج) \begin{cases} x \rightarrow y \\ y \rightarrow x \end{cases} \rightarrow x_s \frac{3y+1}{y-2} \rightarrow y_s \frac{3x+1}{x-2}$$

$$د) \begin{cases} x \rightarrow -y \\ y \rightarrow -x \end{cases} \rightarrow -x_s \frac{-3y+1}{-y-2} \rightarrow y_s \frac{3x-1}{x+2}$$

$$\bullet ②) أ) \begin{cases} x' = x-2 \\ y' = y+3 \end{cases} \rightarrow \begin{cases} x = x'+2 \\ y = y'+3 \end{cases} \rightarrow y'-3_s \frac{2(x'+2)+1}{(x'+2)-2} \rightarrow y'_s \frac{2x'+5}{x'-1} + 3$$

$$ب) \begin{cases} x' = x-2 \\ y' = y-2 \end{cases} \rightarrow \begin{cases} x = x'+2 \\ y = y'+2 \end{cases} \rightarrow y'+2_s \frac{2(x'+2)+1}{(x'+2)-2} \rightarrow y'_s \frac{2x'+5}{x'-1} + 2$$

$$\rightarrow y'_s \frac{2x'+5}{x'-1} + 2 \rightarrow \frac{2x'+5}{x'-1} = y'_s \frac{2x'+5}{x'-1} + 2$$

③

$$أ) \begin{cases} 3x+5y = 1 \\ x-2y = 1 \end{cases} \rightarrow \begin{cases} 3x+5y = 1 \\ x-2y = 1 \end{cases}$$

$$\bullet -3x \left( \begin{cases} 3x+5y = 1 \\ x-2y = 1 \end{cases} \rightarrow \begin{cases} 3x+5y = 1 \\ -3x+6y = -3 \end{cases} \rightarrow \begin{cases} 3x+5y = 1 \\ -3x+6y = -3 \end{cases} \rightarrow \begin{cases} 3x+5y = 1 \\ 11y = -2 \end{cases} \rightarrow \begin{cases} 3x+5y = 1 \\ y = -\frac{2}{11} \end{cases}$$

$$ب) \begin{cases} 3x+5y = 1 \\ x-2y = 1 \end{cases}$$

$$x_s \begin{vmatrix} b & c \\ b' & c' \end{vmatrix} = \begin{vmatrix} 5 & 1 \\ -2 & 1 \end{vmatrix} = 5 - (-2) = 7$$

$$y_s \begin{vmatrix} a & c \\ a' & c' \end{vmatrix} = \begin{vmatrix} 3 & 1 \\ 1 & -2 \end{vmatrix} = 3 - 1 = 2$$